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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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06:10 278 150.0 BE| {RRiB006:10 Bz (RAKEE)
06:15 278 150.0 B {Rige06:15 Bz (REAEBSE)
07:50 278 150. 0 B 1Ri&e07:50 Bzl (RAEREE)
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P3-3

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:15 273 150.0 (Z=| 1BRige07:15 Bzh (REERESE)
07:20 273 150.0 (& =| 1BRiB@07:20 Bzh (REERESEE)
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REREBIEC (2715.0) HigZEEC (2000.0) REK K, HHE
[@{&REC 6075.0 K5, EiNF{KECAE&HRER

#[EKECE (2715.0 vs 6075.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 A

1000

P3-3_0, Day=47 (2025-05-15)

T e g g S B S s
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

50

200 A

150 -

100 -

50 A

1056

880 223

170 Warning: lcol [FVI',| "FVO’'] missing

60

1.0

Warning: lcol ["WC1',  "WC2'] missing

776 F 2000

317

- 1000

FRV (ml d-1)

4 30

- 25

- 20 =

- 15

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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